FHT e HER-—E

wm |2z | ma | B0 28 | um | ae |SERF| ZE | PRBE o
VCA02 = | B | BH& | ,o- | T ©
~Voaos | HER| — & % JiBE| BR —mg 1 ~40~350 | 1SO Classt —55—5s REES
MiE: 2~7A M 7E et
n-d=1 tsos
—‘\‘ A
QOOCOUL
E <
B
W3
@ EEEARKETEAN:
s 1. 12R%ER, KE=BM{TES/1.2
s ~ 2. FLEER, KE—BRIFES 1.5
. — © S8
S IR
s I S1: ZHZz—1718
i/ | | S2: ZHZ—17i8
[ T
[ 6 ' 5
5 x
N\ K|
\\i\\\
=~ T
SIsIss
OEE
o HIEXHERLAIBHE—AAE, BENRE—£&E—1T;
o BRAREEANTUREENAR, FEEIFEZELA;
o (FRET1200mmE BN AT, MLBRBEENIE 3, =1
o FRBREERFHINEEAINBHRARN, BIOSHIMNHEE, SFEF. Mk B
= < 1
29 g PR s st | mon | L (| M| Mo | 25| gy [mR| ER | Bn |EEeE
RED | HHE | B/INRAZ1 d | Al B |omp | e |z | BE | = | BB| 48 | = = 7 b= ez} R
FLE =E | BE | ¥R BE BE \BiEE| &2
2 , |10 26 | 13.8] 50 T8 9 | VCA511 —
2B 19 4223 | 70 25 100 [ @18 VCAs1-2 VCA57/58
3 10 36 | 13.8| 50 18 9 | VCA51-3 -
3A 3 [ 13 47 [17 | 60 21 130 | @12 VCA51-4
3B 19 65|23 | 70 25 100 | @18 VCASI-S VCAST/S8
4 . 10 _ | _ [#8138] 50 18 @9 | voms1-6 | =
veReZTan| 15 13 60 | 17 | 60| 2 | 21 | 2xR|2xR+H)|H2+50] 130 | @12 | VCA51-7 VCA57/58
5 5 59 VCA51-8 _
r ] 10 o138 50 18 100 | @9 | 2
6A 13 92 [17 | 60 21 130 | @12 | VCASI-11 VCA57/58
7 10 82 | 13.8| 50 18 100 | @9 | VCA51-12 =
7A 7 [13 103 |17 | 60 21 130 | @12 VCA51-13 P
7E 10 | 37 | 77 | 81|52 | 210 54 150 | @37 VCA51-12 | VCA53
@ BN —REHE, REEAR. REFRMWEL,
e KE . O BHEE. BEERBRIERIA.
@ & s g;é (m) EX Example
: Pl
e I i
VCA02—2—1 MAE: 2~TA Mg 7E
® s
#& [1~99] 100~
s [100%| BERA
FBUNGD)

\

CA51(FERR)
o

VCA51([EHR)
At




	页 2

